
21. Statistician Exam 26-11-2017 
 
 

1. If ABDUL is coded as 0304062314 then SITA is coded as  
A. 20112203  B. 21112203 C. 03052103 D. 21122203 
ABDUL vd;gJ 0304062314 vd FwpaPL nra;ag;gl;lhy; SITA vt;thW FwpaPL 
nra;ag;gLk;? 
A. 20112203  B. 21112203 C. 03052103 D. 21122203 
Solution 
  A B D U L  S I T A 
  
  03 04 06 23 14  21 11 22 03 
 
   

2. If Ragini walks 5 km in a Northern Direction, turns left and walks for 7 km 
and again turns left and walks for 3 km.  In what direction is she walking 
finally? 
A. East    B. West  C. North  D. South 
uhfpdp tlf;F jpir Nehf;fp 5 fp.kP ele;J> ,lJ Gwk; jpUk;gp NkYk; 7 fp.kP. 
elf;fpwhs;.  kPz;Lk; ,lJ Gwk; jpUk;gp 3 fp.kP. elf;fpwhs;.  filrpahf ve;j 
jpir Nehf;fp elf;fpwhs;? 
A. fpof;F  B. Nkw;F  C. tlf;F  D. njw;F 
Solution 

          
 
 

3. The HCF and LCM of two numbers are 12 and 144 respectively.  One number  
is 36 the other number is  
A. 24   B. 58   C. 28   D. 48 
,U vz;fspd; kP.ngh.t kw;Wk; kP.rp.k KiwNa 12 kw;Wk; 144 MFk;.  xU 
vz; 36 vdpy; kw;nwhU vz;  
A. 24   B. 58   C. 28   D. 48 
Solution 

   
LCM×HCF

Other Number =
Given Number

144×12
=

36
 

     = 48 
     



4. Two whole numbers whose sum is 72 cannot be in the ratio  
A. 5:7   B. 3:5   C. 3:4   D. 3:5 
72 $l;Lj;njhif nfhz;l ,U KO vz;fspd; tpfpjk; fPo;f;fz;lthW ,Uf;f 
KbahJ. 
A. 5:7   B. 3:5   C. 3:4   D. 3:5 
Solution 
 The sum of the ratio terms must divided 72. So, the ratio cannot be 3 : 4 
 

5. Raman‟s salary was decreased by 50% and subsequently increased by 50%.  
How much percent does he lose? 
A. 15%   B. 20%  C. 25%  D. 30% 
uhkDila Cjpak; 50% Fiwf;fg;gl;L> gpd;dh; 50% mjpfg;gLj;jg;gl;lJ.  
mtd; vt;tsT tpOf;fhL ,of;fpwhd;? 
A. 15%   B. 20%  C. 25%  D. 30% 
Solution 

   
I D 50 50

I-D- 50 50 25%
100 100

 
      

 
6. A tradesman sold an article at a loss of 20%.  If the selling price  had been 

increased by Rs.100, these would have been a gain of 5%.  What was the cost 
prices of the article? 
A. Rs. 100  B. Rs.200  C. Rs.400  D. Rs.500 
xU tzpfh; xU nghUis 20% el;lj;jpy; tpw;whh;.  mtuJ tpw;gid tpiy 10 
&gha; mjpfhpj;jpUe;jhy;> 5% yhgk; ,Ue;jpUf;Fk;.  nghUspd; mlf;ftpiy 
vd;d? 
A. Rs. 100  B. Rs.200  C. Rs.400  D. Rs.500 
Solution: Let, CP=100% 
   SP = 80%  New  SP = 105%  105% 
   Difference in Selling price 105 – 80 = 25%  

   25%  100 

   100%  400 
 

7. Rahul owes Rs.X and gives Rs.50 note for payment.  He receives the following 
change: 3X, fifty-paise coins, 14, ten – paise conis and 4X, five-paise coins.  X is 
equal to 
A. 12   B. 16   C. 18   D. 22 
uhFy; &.X fld; gLfpwhh;.  mij &.50 Nehl;by; nrYj;Jfpwhh;.  fPo;f;fz;l 
rpy;yiuia mth; kPjpahfg; ngWfpwhh;.  3X> 50 igrh ehzaq;fs;> 14> 10 
igrh ehzaq;fs;> kw;Wk; 4X> Ie;J igrh ehzq;fs;.  X-d; kjpg;G  
A. 12   B. 16   C. 18   D. 22 
Solution 



 50(3x) + 10(14) + 5(4x) = (50-x)  100 
  150x + 140 + 20Xx = 5000 – 100x  
    270x = 486  
          x = 18  
 

8. A vehicle travels 360 km in 4 hours.  Find the distance it covers in 6 hours 
30mins. at the same speed. 
A. 585km  B. 575km  C. 625km  D. 685km 
xU thfdk; 4 kzp Neuj;jpy; 360fp.kP J}uj;ij flf;fpwJ vdpy; mNj 
Ntfj;jpy; 6 kzp 30 epkplq;fspy; mJ fle;j njhiyT vd;d? 
A. 585km  B. 575km  C. 625km  D. 685km 
Solution 
A Vehicle speed = 90 Kmph 
Distance travelled = 90 * 6  ½ = 585 km 
 
 

9. A is twice as good a workman as B and together they finish a piece of work in 
18 days.  In how many days A alone finish the work? 
A. 26 days   B. 27 days  C. 25 days  D. 24 days  
A> B ig; Nghy ,uz;L klq;F jpwikahd ey;y Ntiyahs;.  mth;fs; 
,UtUk; xU Ntiyia> 18 ehl;fspy; Kbf;fpwhh;fs;.  A kl;Lk; 
mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;? 
A. 26 ehl;fs;  B. 27 ehl;fs; C. 25 ehl;fs; D. 24 ehl;fs; 
Solution 
 
    A  : B 
  Efficeincy 2 : 1 
  Days Ratio 1 : 2 

                
2

18
3

x x

x


   

    x = 27 
 

10.  Find the least number which when divided by 20, 25, 35 and 40 leaves 
remainders 14, 19, 29 and 34 respectively. 
A. 1394   B. 1388  C. 1380  D. 1400 
20> 25> 35> kw;Wk; 40 vd;w vz;fis tFf;Fk; nghOJ 14> 19> 29 kw;Wk; 34 
kPjpnfhLf;Fk; kPr;rpW vz;izf; fhz;f. 
A. 1394   B. 1388  C. 1380  D. 1400 
Solution 
 LCM of (20, 25, 35, 40) = 1400 
The remainder is 6 less than the divisor in each of the cases  
Hence the required number = LCM – 6 = (1400 – 6) = 1394 



11.  About the number of pairs which have 16 as their HCF and 136 as their LCM, 
we can definitely say that 
A. No such pair exists    
B.  Only one such pair exists   
C. Only two such pair exist    
D. Many such pairs exist 
16I> kP.ngh.t MfTk;> 136 I mitfspd; kP.ngh.k MfTk; cila ,iz 
vz;fspidg; gw;wp> fPo;f;fz;lthW ehk; cWjpahfr; nrhy;y KbAk;. 
A. mg;gbg;gl;l ,iz ,y;iy    
B. xNu xU ,iz mg;gbg;gl;ljhf cs;sJ    
C. ,uz;L mg;gbg;gl;l ,iz cs;sJ    
D. mg;gbg;gl;l mNef ,izfs; cs;sd 
Solution 
 HCF of two numbers divides their LCM exactly. 
 Since 16 is not a factor of 136, it states that there does not exist any pair of 
 numbers with HCF 16 and LCM 136. 
 

12. Fill in the blanks  
BDF, HJL, ____, TVX 
A. RPN   B. NPQ  C. PRN  D. NPR 
tpLgl;l ,lj;ij epug;Gf: 
BDF, HJL, ____, TVX 
A. RPN   B. NPQ  C. PRN  D. NPR 
Solution 
  B ( )CDEFGH ( )IJKLMN ( )OPQRST 
  D ( )EFGHIJ ( )KLMNOP ( )QRSTUV 
  F ( )GHIJKL ( )MNOPQR ( )STUVWX 
 

13.  2  men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys 
do the same work in 8 days.  In how many days can 2 men and 1 boy do the 
work? 

A. 
2

25
   B. 

1
12

2
  C. 13   D. 12 

xU Ntiyia 2 kdpjh;fSk; 3 igad;fSk; Nrh;e;J 10 ehl;fspYk;> mNj 
Ntiyia 3 kdpjh;fSk; 2 igad;fSk; Nrh;e;J 8 ehl;fspYk; Kbf;f KbAk;.  
2 kdpjh;fSk;> 1 igaDk; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; nra;J 
Kbf;f KbAk;? 

A. 
2

25
   B. 

1
12

2
  C. 13   D. 12 

Solution 
   2M + 3B = 10D ------------ (1) 
   3M + 2B = 8D   ------------ (2) 



   2M + B = ? ----------------- (3) 
 

   (2M+3B)10 = (3M+2B)8 
   10M + 15B = 12M + 8M  
    2M = 7B  
  Sub eq. (1) in 2M = 7B 

   7B + 3B = 10B  10days 

   7B + 1B = 8B  x days 

      
100 1

12
8 2

x    

  
14.  A man borrows Rs.2,550 to be paid back with compound interest at the rate 

of 4% per annum by the end of  2 years in two equal yearly instalments.  How 
much will each instalment be?  
A.  Rs. 1,275  B. Rs. 1,283  C. Rs.1,352  D. Rs.1,377 
xU kdpjd; &.2>550I ,uz;L Mz;Lfs; Kbtpy; ,U rk jtizfspy; 
jpUk;gf; fl;Lk;gbahf Mz;Lf;F 4% tPjk; $l;Ltl;bapy; fld; ngWfpwhh;.  
xt;nthU jtizAk; fPo;f;fz;l njhifahFk;. 
A. &. 1>275  B. &. 1> 283 C. &. 1>352  D. &. 1>377 
Solution 
  Let the value of each instalment be Rs.x. 

                   

2
2550

4 41 1
100 100

25 625
2550

26 676

1275 2550 676

2550 676

1275

x x

x x

x

x

  
          

 

 




  

                                            = 1352 
 
 
 

15.  Water flows into a tank with a base 200m  150m through a rectangular pipe 

1.5m  1.25m at the rate of 20 kmph.  In what time in (minutes) will the water 
rise by 2 metres? 
A. 93 min  B. 95 min  C. 96min  D. 94 min 

200kP  150kP msTs;s mbg;ghfk; nfhz;l xU jz;zPh; njhl;bf;Fs; xU 1.5kP 
 1.25 kP msTila nrt;tff; Fohapd; topahf kzpf;F 20 fp.kP. Ntfj;jpy; 
jz;zPh; gha;fpwJ.  ve;j Neuj;jpy; jz;zPh; 2 kPl;lh; cauj;jpw;F epuk;Gk; 
(epkplj;jpy;)? 



A. 93 min  B. 95 min  C. 96min  D. 94 min 
Solution 

   Volume of water collected in 1 hour = 1.5  1.25 20 1000 
            = 37500m 3  
  If after „t‟ hours, the water is at height of 2m 

  37500  t = 200  150  2  
           t = 1.6 hours 
           t = 96min 
 

16.  The following AP is 
5 2 10

1, , , .......
6 3 3

   then the total number of term is  

A. 25   B. 27   C. 23   D. 21 

gpd;tUk; $l;Lj;njhlh; 
5 2 10

1, , , .......
6 3 3

   thpir vdpy; nkhj;j cWg;Gfspd; 

vz;zpf;if  
A. 25   B. 27   C. 23   D. 21 
Solution 

   

nt =a+(n-1)d=l

1 10
-1+(n-1) =

6 3

1 13
(n-1)× =

6 3

13
(n-1)= ×6

3

n-1=26

 

    n = 27 
 

17.  An institute organised a fete and 
1

5
of the girls and 

1

8
of the participated in the 

same.  What fraction of the total number of students took part in the fete? 

A. 
2

13
      B. 

13

40
    

C. Data inadequate    D. None of these  

xU epWtdk; xU tpohit elj;jpaJ.  mjpy; 
1

5
ghfk; khztpfSk;> 

1

8
ghfk; 

khzth;fSk; fye;J nfhz;ldh;.  nkhj;jj;jpy; khzt khztpah; ve;j 
gpd;dg;Fjp fye;J nfhz;ldh;? 

A. 
2

13
      B. 

13

40
    

C. tptuk; NghjhJ    D. Nkw;nfhz;litfspy; xd;Wkpy;iy 
Solution 
   



 Let total number of girls in the institute = x 
 Total number of boys = y 

 Now, Girls participate 
1

5
of x and boys participate 

1

8
of y. 

 Which becomes  
5 8

x y
     

 We don‟t know the value of x and y.    
 Therefore  data inadequate. 
 

18. Range of the first ten positive integers is  
A. 10   B. 9   C. 5   D. 4.5 
Kjy; gj;J kpif KOvz;fspd; tPr;R vJ? 
A. 10   B. 9   C. 5   D. 4.5 
Solution 
  First ten positive integers = 1, 2, ….,10 
  Rang = L – S  
   = 10 – 1 = 9  
 

19. If Rama pays Rs.1,000 at the beginning of every month in a post office 
recurring deposit for 5 years.  If the rate of interest is 7%.  What is the amount 
Rama gets at the end of five years? 
A.  Rs.62,675  B. Rs.72,675 C. Rs.10,675 D. Rs.70,675 
uhkd; xt;nthU khj njhlf;fj;jpYk; 5 Mz;L mQ;ryf njhlh; itg;Gj; 
jpl;lj;jpy; &.1,000 nrYj;jp tUfpwhh;.  tl;b tPjk; 7% vdpy; 5 Mz;LfSf;F 
gpd; uhkd; ngWk; njhif vd;d? 
A.  Rs.62,675  B. Rs.72,675 C. Rs.10,675 D. Rs.70,675 

Solution 
 

Maturity Amount = 
1 ( 1)

( )
100 12 2

P N R n n
P n where N

     
      

   
 

Pn = 1000  60 month = 60,000 Rs. 

   
1 60 61 305

2 2 2
N


    

  
1000 305 7

10,675
2 100

Interest
 

 


 

 Amount = 60,000 + 10,675 = 70,675 
 

20. Find the length of the longest pole that can be placed in room 12m long, 8 
broad and 9m high. 
A. 15m   B. 16m  C. 18m  D. 17m 



12kP ePsk;> 8kPl;lh; mfyk;> 9kPl;lh; cauKs;s xU miwapy; itf;fg;glf; 
$ba kpf ePskhd fk;gj;jpd; ePsk; fhz;f. 
A. 15 kP   B. 16kP  C. 18kP  D. 17kP 
Solution  

   2 2 2 144 64 81 289 17l b h m        
 

21. The difference between two parallel sides of a trapezium is 4 cm.  The 
perpendicular distance between them is 19cm.  If the area of the trapezium is 
475cm2, find the length of the parallel sides. 
A. 27cm, 23cm B. 28cm, 22cm C. 26cm, 24cm D. 25cm, 25cm 
xU bugPrpaj;jpd; ,iz gf;fq;fspd; NtWghL 4 nr.kP. 
mitfSf;fpilNaahd nrq;Fj;Jj; J}uk; 19nr.kP. bugPrpaj;jpd; gug;G 475nr.kP2 

vdpy;> mjd; ,izgf;fq;fspd; ePsq;fisf; fhz;f. 
A. 27 nr.kP> 23nr.kP    B. 28nr.kP> 22 nr.kP    
C. 26nr.kP> 24 nr.kP    D. 25 nr.kP> 25nr.kP 
Solution  

 Parallel  
1

( )
2

h a b     

  

1
19 ( ) 475

2

475
( ) 2

19

a b

a b

    

  

 

   a + b = 50 
   a – b = 4 
   _______ 
   2a = 54 
  a = 27,  b = 23 
 

22.  Three containers have their volumes in the ratio 3:4:5.  They are full of 
mixtures of milk and water.  The mixtures contain milk and water in the ratio 
of 4:1, 3:1 and 5:2 respectively.  The contents of all these three containers are 
poured into a fourth container.  The ratio of milk and water in the 4th 
container is  
A. 4:1   B. 151:48  C. 157:53  D. 5 : 2 
%d;W fyd;fspd; fd msTfs; 3 : 4 : 5 tpfpjj;jpYs;sd.  mitfspy; ghy; 
kw;Wk; ePh;f;fyitfs; epiwe;Js;sd.  mitfspy; KiwNa ghYk;> jz;zPUk; 
4:1> 3:1 kw;Wk; 5:2 fye;Js;sd.  ,e;jf; fyitfs; xU ehd;fhtJ fydpy; 
Cw;wg;gLfpd;wd vdpy;> ehd;fhtJ fydpy; ghYk; jz;zPUk; ,Uf;Fk; tpfpjk;. 
A. 4:1   B. 151:48  C. 157:53  D. 5 : 2 
Solution 
  Let the volumes of three containers be 3 litres, 4 litres and 5 litres 
respectively 



Container – 1 

      
Container - 2 
 

   
Container - 3 

        
Required ratio in container - 4 

     
 

23.    
1 1 1

of of ofx=15
3 2 5

find x 

A. 350   B. 450  C. 550  D. 250 

x ,y; 
1

5
 ,y; 

1

2
 

1

3
=15 vdpy; x ahJ? 

A. 350   B. 450  C. 550  D. 250 
Solution 

   

1 1 1
15

3 2 5

15 3 2 5

450

x

x

x

   

   



 

 

24. Simplify : 5 63 x  

A. 
2

5x    B. 
1

5x    C. 
1

3x    D. 
6

5x  

RUf;Ff : 5 63 x  

A. 
2

5x    B. 
1

5x    C. 
1

3x    D. 
6

5x  
Solution 



    

1
61 5

5 6 63 153x x x
 

  
 

 

25.  When a ball bounces, it rises to ¾ of the height   from which it fell.  If the ball 
is dropped from a height of 32m, how high will it rise at the third bounce? 

A. 13m   B. 13 
1

2
m  C. 14 

1

2
m  D. 27m 

xU ge;J jpUk;g vOk;Gk; nghOJ mJ tpOk; cauj;ijg; Nghy 
3

4
klq;F 

vOk;GfpwJ.  xU ge;J 32kP cauj;jpypUe;J Nghlg;gl;lhy; %d;whk; Kiw mJ 
vOk;Gk; NghJ vt;tsT cauj;jpy; vOk;Gk;? 

A. 13m   B. 13 
1

2
m  C. 14 

1

2
m  D. 27m 

Solution 

    
 

  



 
1. A and B together can do a piece of work in 8 days, but A alone can do it in 12  

days.  How many days would B alone take to do the same work? 
A. 24 days  B. 16 days   C. 32 days   D. 10 days  
xU Ntiyia A> B ,UtUk; Nrh;e;J 8 ehl;fspYk; Kbg;gh;. B kl;Lk; 
mt;Ntiyia vj;jid ehl;fspy; Kbg;gh;? 
A. 24 ehl;fs;  B. 16 ehl;fs; C. 32 ehl;fs; D. 10 ehl;fs; 
Solution 

   

1

8

12

?

A B days

A days

B

 





 

   
1 1 12 8 4

8 12 96 96


      

  B = 24days 
 

2. Total surface area of solid hemisphere is 675  sq.cm.  Then  curved surface 
area of the solid hemisphere is. 

A. 225  sq.cm  B. 450  sq.cm C. 450 sq.cm D. 225  sq.cm  

xU jpz;k miuf;Nfhsj;jpd; nkhj;j Gwg;gug;G 675  r.nr.kP. vdpy; mjd; 
tisgug;G  
A. 225 r.nr.kP. B. 450  r.nr.kP. C. 450 r.nr.kP. D. 225 r.nr.kP. 
Solution 
 
 Given that the total surface are of the solid hemisphere  

     3r2 = 675  sq.cm 
         r2 = 225 
Now, the curved surface area of the solid hemisphere. 

    CSA = 2r2 = 2225 = 450sq.cm. 
 

3. A train running at 80 km/hr, reaches a place in 6 hours.  In what should it run 
in order to reach the place in 4 hours? 
A. 90km/hr  B. 100km/hr C. 110km/hr D. 120 km/hr 
kzpf;F 80fp.kP Ntfj;jpy; nry;Yk; xU Gif tz;b xU ,lj;ij 6 
kzpNeuj;jpy; nrd;W milfpwJ.  Fwpg;gpl;l me;j ,lj;ij 4 kzp Neuj;jpy; 
flg;gjw;F> Gif tz;b ve;j Ntfj;jpy; nry;y Ntz;Lk;?  
A. 90fp.kP/kzp  B. 100 fp.kP/kzp C. 110 fp.kP/kzp D. 120 fp.kP/kzp  
Solution 
   km   hour 
   80     6 
   ?   4 



   
80 6

120 /
4

km hr


   

 
4. The sum of the digits of a two digit number is 13.  When the digits are 

interchanged, the value of the number is increased by 45. What is the number? 
A. 67   B. 49   C. 58   D. 94 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 13.  me;j vz;zpd; ,yf;fq;fis 
mtw;Wf;Fs; ,lk; khw;wpdhy;> me;j vz;zpd; kjpg;G 45 Mf mjpfhpf;fpwJ 
vdpy; me;j vz; ahJ? 
A. 67   B. 49   C. 58   D. 94 
Solution 
 
  From option 
Original number < Revised number        Difference = 45  
  49  - 94 = 45  
 

5. Simplify : 
2sin30 3sec10 cot15

cos60 cos 80 tan75ec
   

A. 0   B. 6   C. 3   D. 4 

RUf;Ff: 
2sin30 3sec10 cot15

cos60 cos 80 tan75ec
   

A. 0   B. 6   C. 3   D. 4 
Solution 

  Sin (90 - ) = cos  

  Sec (90 - ) = cosec  

  Cot (90 - ) = tan 

  
2 cos60 3cos 80 tan75

cos60 cos 80 tan75

ec

ec


   

  2 + 3 + 1 = 6 
 

6. What is the GCD of 6 (2x2 – 3x – 2), 8(4x2 + 4x +1) and 12 (2x2 +7x +3) ?  
A. 4(x+3)  B. 2(2x+1)  C. 8(2x+3)  D. 8(x+3) 
6 (2x2 – 3x – 2), 8(4x2 + 4x +1) kw;Wk; 12 (2x2 +7x +3) Mfpatw;wpd; kP.ngh.t 
vd;;d? 
A. 4(x+3)  B. 2(2x+1)  C. 8(2x+3)  D. 8(x+3) 
Solution 

   6(2x+1) (2x-4) 

   8(4x+2) (4x+2)  = 32(2x+1)(2x+1) 

   12(2x+1)(2x+7) 

   HCF = 2  (2x+1) 
 



7. What is the volume of the water flowing through a cylindrical pipe? 

A. Area of cross section of the pipe  Speed  Time  

B. Area of cross section of the pipe  Length of pipe    

C. Area of cross section of the pipe  Time    

D. Length of the pipe  radius of its cross section 
Foha; topNa ghAk; ePhpd; fd msT vt;tsT? 
A.  Fohapd; FWf;F ntl;Lg;gug;G  Ntfk;  Neuk;    

B. Fohapd; FWf;F ntl;Lg;gug;G  Fohapd; ePsk;    

C. Fohapd; FWf;F ntl;Lg;gug;G  Neuk;    

D. Fohapd; ePsk;  Fohapd; FWf;F ntl;L Muk; 
 

8. What is the sum of the series 1 + 8 + 27 + 64 + …. + 1000. 
A.  1100   B. 1064  C. 2027  D. 3025 
 1 + 8 + 27 + 64 + …. + 1000 vd;w njhlhpd; $Ljy; vd;d? 
A.  1100   B. 1064  C. 2027  D. 3025 
Solution 

  
2

3 3 3 3 3 ( 1)
1 2 3 4 ..... 10

2

n n 
       

 
 

  
2

10(10 1)
3025

2

 
  

 
 

9. A circle and a sphere are of same radius.  What is the ratio of the area of the 
circle to the surface area of the sphere? 
A. 1:1   B. 1:2   C. 1:4   D. 1:3 
xU tl;lKk; NfhsKk; rk Muk; cs;sit.  tl;lj;jpd; gug;Gf;Fk; Nfhsj;jpd; 
Gwg;gug;Gf;Fk; cs;s tpfpjk; vd;d? 
A. 1:1   B. 1:2   C. 1:4   D. 1:3 
Solution 

   r2 : 4r2 

      1 : 4 
   

10.  A father is now twice as old as his son. Twenty years ago, he was six times as 
old as his son.  What are their ages now?  
A. 60, 30   B. 40, 20  C. 58, 29  D. 50, 25 
jw;NghJ xU je;ijapd; taJ mtuJ kfd; taijg;Nghy; ,U klq;F.  
,UgJ Mz;LfSf;F Kd;G> je;ijapd; taJ kfdpd; taijg; Nghy MW 
klq;F vdpy;> mth;fsJ jw;Nghija taJ vd;d? 
A. 60, 30   B. 40, 20  C. 58, 29  D. 50, 25 
Solution 
 
  Son‟s age = x  Father‟s age = 2x 
   6(x-20) = 2x – 20 



 4x = 100 
 x = 25,  2x = 50 

 
11. 20 men working 6 hours a day can finish a work in 4 days.  In how many days 

can 10 men working 8 hours a day finish the work? 
A. 8 days  B. 6 days  C. 4 days  D. 10 days 
20 Ml;fs; xU ehisf;F 6 kzp Neuk; Ntiy nra;jhy; xU Ntiyia 4 
ehl;fspy; Kbf;ff; $Lk; vdpy; 10 Ml;fs; xU ehisf;F 8 kzp Neuk; Ntiy 
nra;jhy; mt;Ntiyia vj;jid ehl;fspy; Kbf;f KbAk;? 
A. 8 ehl;fs;   B. 6 ehl;fs; C. 4 ehl;fs; D. 10 ehl;fs; 
Solution 
  M1 D1 H1 = M2D2H2 

  
20 4 6

6
10 8

x
 

 


 

 
 

12. What is the LCM of 4(x+1) and 2(x2 -1) ? 
A. 2(x+1)  B. 4(x-1)  C. 4(x2 -1)  D. 2(x+1)2 

4(x+1) kw;Wk; 2(x2 -1) vd;gtw;wpd; kP.rp.k vd;d? 
A. 2(x+1)  B. 4(x-1)  C. 4(x2 -1)  D. 2(x+1)2 
Solution 
  4(x+1); 2(x2+1) = (x+1)(x-1)  
  4(x+1)(x-1) 
  4(x2-1) 
 

13.  A man bought a car for Rs.2,00,000 and spent Rs.50,000 on its repair.  He sold 
it for Rs.3,00,000. What is the profit percentage? 
A.  20%   B. 10%  C. 50%  D. 25% 
xUth; &.2>00>000f;F xU fhh; thq;fp mjid gOJ ghh;g;gjw;fhf &.50>000 
nryT nra;jhh;.  me;j fhiu mth; &.3>00>000f;F tpw;gid nra;jhy;. mth; 
mile;j ,yhg rjtPjk; vd;d? 
A.  20%   B. 10%  C. 50%  D. 25% 
Solution 
    C.P = 2,00,000  + 50, 000 = 2,50,000 
   S.P = 3,00,000 
   S.P. – C.P. = 3,00,000 – 2,50,000 = 50,000 

   
S.P-C.P

Profit = ×100%
C.P

 

                        
50,000

= ×100%
2,50,000

= 20% 

 
14.  In how many years will a sum of money double itself at 20% simple interest? 



A. 4years  B. 5 years  C. 10 years  D. 20 years 
xU njhifahdJ 20% jdptl;b tPjj;jpy; vj;jid Mz;Lfspy; 
,Uklq;fhFk;? 
A. 4Mz;Lfs;  B. 5 Mz;Lfs; C. 10 Mz;Lfs; D. 20 Mz;Lfs; 
Solution 

  
PNR

=
100

SI  

 P = p;  A = 2p ;  SI =p    R = 20% 

   
100×p

N= =5years
20×p

 

 
15.  What is the difference between the total surface area and the lateral surface 

area of a solid cylinder of radius „r‟ and height “h”. 

A. 2r2   B. 
1

2
r2  C. 2r2h  D. 2rh 

xNu cauKk;> MuKk; nfhz;l xU nfl;b cUisapd; nkhj;j gug;Gf;Fk; 
Gwg;gug;Gf;Fk; cs;s NtWghL vd;d? 

A. 2r2   B. 
1

2
r2  C. 2r2h  D. 2rh 

Solution: 

2 π r ( r + h) - 2 π r h = 2r2  
 

16. What is the area of a Trapezium whose parallel sides are x and x2 and height 
is 2x? 
A. x2 (1+x) sq.units    B. x2+x sq.units  

C. 
1

2
(1+x) sq.units     D. 

1

2
(x2 + x) sq.units 

,izg;gf;fq;fs; x kw;Wk; x2 vdTk; cauk; 2x vdTk; cs;s rhptfj;jpd; 
gug;G vd;d? r.myF 
A. x2 (1+x) r.myF    B. x2+x r.myF  

C. 
1

2
(1+x) r.myF    D. 

1

2
(x2 + x) r.myF 

Solution 

    2 21 1
2 ( ) (1 )

2 2
h a b x x x x x           

 
17.  sin 30, sin45 and sin90 are in what ratio? 



A. 1: 2 :2  B. 1:2:3  C. 2 :2:3  D. 1:2:2 2  

sin 30, sin45 kw;Wk; sin90vd;gd ve;j tpfpjj;jpy; cs;sd? 

A. 1: 2 :2  B. 1:2:3  C. 2 :2:3  D. 1:2:2 2  
Solution 

 sin 30 = 
1

2
  sin45 = 

1

2
  sin90 = 1 

    
1

2
 : 

1

2
 : 1     Multiply by 2 

     1: 2 :2 
   

18.  If x  : 16 = 49 : 3 2x , what is the value of x? 
A. 49   B. 16   C. 64   D. 28 

x  : 16 = 49 : 3 2x , vdpy; x d; kjpg;G vd;d? 
A. 49   B. 16   C. 64   D. 28 
Solution 
 

   

 

 

31
2 2 22

1
22

32
2

1 3

2 2 22 2

: 4 7 :

7

4

4 7 784 28

x x

x

x

x x x


 

 

      

 

 
 

19. Which of the following is not a geometric sequence? 
A. 7, 56, 448, 3584, …..   B. 6, 0.6, 0.06, 0.006,……   

C. 
1

5
,2,20,200,………     D. 4, 48, 384, 3256, ….. 

gpd;tUtdtw;Ws; vJ ngUf;Fj; njhlh; thpir my;y? 
A. 7, 56, 448, 3584, …..   B. 6, 0.6, 0.06, 0.006,……   

C. 
1

5
,2,20,200,………     D. 4, 48, 384, 3256, ….. 

Solution: No common multiples in Option D,  
 

20.  The length of a rectangle is 2cm greater than the breadth.  If the area of the 
rectangle is 80cm2. What are the length and breadth? 
A. 10cm, 8cm  B. 8cm, 6cm C. 6cm, 4cm D. 12cm, 10cm 
xU nrt;tfj;jpd; ePsk; mjd; mfyj;ij tpl 2 nr.kP. mjpfk; nrt;tfj;jpd; 
gug;G 80 nr.kP2 vdpy; mjd; ePsk; mfyq;fs; ahit? 
A.  10nr.kP> 8nr.kP    B. 8 nr.kP> 6nr.kP  
C. 6nr.kP> 4 nr.kP    D. 12nr.kP> 10nr.kP 
Solution 



   breadth = x;  length = x +2  

   area of rectangle = l  b = 80 

       (x+2)x = 80 
      x2 +2x -80 =0 
     x = 10 ,  x = 8 
  

21.  The HCF and LCM of two numbers are respectively 8 and 7040.  If one of the 
two numbers is 128, what is the other number? 
A. 240   B. 140  C. 440  D. 250 
,U vz;fspd; kP.ngh.t. kw;Wk; kP.ngh.k KiwNa 8 kw;Wk; 7040.  mtw;Ws; 
xU vz; 128 vdpy;> kw;nwhU vz; ahJ? 
A. 240   B. 140  C. 440  D. 250 
Solution 
   

  

LCM×HCF
Other Number =

Given Number

7040×8
= 440

128
  

 
22. What is the difference between the compound Interest and simple interest on 

a sum of Rs.1,000 at 10% interest for two years? 
A. Rs.10   B. Rs.20  C. Rs.100  D. Rs.110 
&gha; 1000f;F 10% tl;b tPjj;jpy; ,uz;L Mz;LfSf;F chpa $l;L 
tl;bf;Fk;> jdptl;bf;Fk; cs;s tpj;jpahrk; vd;d? 
A. Rs.10   B. Rs.20  C. Rs.100  D. Rs.110 
Solution 

   
2

100
P=Diff×

R

 
 
 

 P = 1000,   R = 10%,  N = 2year  

   
10 10

Diff=1000 10
100 100

    

    
23.  The volume of a cylinder is 81cm3.  What is the volume of the cone that has 

the same radius and height as the cylinder? 
A. 27cm3  B. 243cm3  C. 81cm3  D. 162cm3 
xU cUisapd; fd msT 81nr.kP3 me;j cUisiag; Nghd;Nw MuKk; 
cauKk; nfhz;l $k;gpd; fdmsT vd;d? 
A. 27nr.kP3  B. 243nr.kP3  C. 81nr.kP3  D. 162nr.kP3 
Solution 
   Volume of cylinder = 2r h   2r h =81 

   Volume of cone = 21

3
r h  

    2 31 1
81 27

3 3
r h cm     

 



24.  The sum of the series  3 + 5 + 7 + 9 + … + 25 is  
A. 169   B. 625  C. 3125  D. 168 

3 + 5 + 7 + 9 + … + 25  vd;w njhlhpd; $Ljy; 
A. 169   B. 625  C. 3125  D. 168 
Solution 
  a= 3; d = 2 tn = 25 
  tn = a + (n-1)d = 25 
         3 + 2n -2 = 25 
    n = 12 

  
12

( ) (3 25) 168
2 2

n

n
S a l      

  
 

25.  The sum of the series 1+2+3+4+….+199 is  
A. 1990   B. 19900  C. 1199  D. 199000 
1+2+3+4+….+199  vd;w njhlhpd; $Ljy; 
A. 1990   B. 19900  C. 1199  D. 199000 
Solution 

                 

( 1)
1 2 3 ...

2

199 200
19900

2

n n
n


   


 

 

 
 
 


